M2 40 > AQlp T0E

- AR Aa Rk

i AQl . AQl TR

41 1p 68 ¥ 73 ¥
41 2p 90 ¥ 72 ¥
47 3¢ 66 ¥ 74 ¥
41 40p 80 ¥ 60 ¥
47 5p 40 L4 38 U
4768 64 ¥ 62 ¥
41 7p 75 ¥ 75 ¥
47 8p 89 ¥ 87 ¥
47 9p 85 ¥ 83 ¥
4110 p 54 ¥ 58 ¥
4111 p 50 24 52 ¥
4112 p 61 ¥ 62 ¥
4113 p 114 AR HH G R 120 AR RH T B
41 14 p 97 ¥ 84 ¥
4% 150p 150 AR RH T B 91 ¥
41 16 p 67 ¥ 75 ¥
4117 p 103 TR HH T B 96 ¥
4118 p 127 TR HH G R 131 AR RH T B
4119 p 68 ¥ 72 ¥
47 20p 58 ¥ 63 ¥
41 21p 84 ¥ 60 ¥
41 22p 101 AR HH G R 55 ¥
41 23p 76 ¥ 76 ¥
47 24p 42 T h 51 ¥
4% 25p 64 L4 71 ST
41 26 p 93 ¥ 84 ¥
427 p 89 $i 84 %L
41 28 p 82 ¥ 75 ¥
41 290p 67 ¥ 71 ¥
47 30p 66 ¥ 67 ¥




SR 112540 > AQLP T
o = FRipl b * 35 p| 2k
) AQl R AQl kR
4715 76 g 71 g
47125 84 i i 97 i i
40 3¢ 73 g 77 g
4% 4np 80 ¥ 71 ¥
41508 44 24 45 2 4
47 60p 68 g 56 g
41 7p 73 U 64 U
4" 8p 86 ¥ 74 ¥
4% 9p 86 ¥ 97 ¥
47" 10 p 60 U 64 ¥
47" 11 p 45 2 HF 8 2 43
47 12 p 53 %3 52 %
42 13 p 146 WAt =87 i 115 FAaTR EFH I R
4% 14 p 104 FATR EFHF R 97 ¥
42 15 p 136 AT %HH 3 B 151 FHerg mH R R
41 16 p 79 % 61 ¥
4 2 17 p 113 HATR EH R R 94 U
47 18 p 138 AR %=H 7 itk 124 TR EFH I R
4% 19 p 82 ¥ 74 ¥
41 20p 72 %l 71 ¥
471 21p 80 ¥ 84 ¥
4 % 22 p 104 REET ERE 100 ¥
41 23 p 88 ¥ 83 P
41 24 p 55 §i 51 ¥
4 1 25 p 66 ¥ 77 ¥
471 26 p 95 ¥ 93 P
4 % 27 p 90 Fi 84 Fi
47 28 ¢ 88 g 77 g
49 29p 74 £ 71 £
4730 p 64 g 65 g




